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���� limx→∂Ω− u(x) = g
� ������

limx→∂Ω− n̂ ·∇u(x) = g
� ��� ����� �� ��������

���� limx→∂Ω+ u(x) = g

u(x) =

�
O(�) �D

o(�) �D
�� |x | → ∞

� ������

limx→∂Ω+ n̂ ·∇u(x) = g
u(x) = o(�) �� |x | → ∞
� ������

���� g ∈ C (∂Ω)�
���� ���� f (x) = O(�) ����� ���� f (x) = o(�)��
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����� �� ������������ ������� ����������� �� Ω�
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� N(I/�− D) = N(I/�− S �) = {�}
� N(I/�+ D) = ����{�}� N(I/�+ S �) = ����{ψ}�

�����
�
ψ �= ��



�� ����������� ������ ���

���� N(I/�− D) = {�}.



�� ����������� ������ ����

���� N(I/�− S �) = {�}.
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���� N(I/�+ D) = span{�}�

���� ����� ���������� �� ��� ��� �� �� �������

→ ������� ��������� ��� � ��� �� ��
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�������� N(I/�+ S �) = {ψ}� � � �� ��� ���� ψ� ��� �������� �������

n̂ ·∇yG (x , y) → n̂ ·∇yG (x , y) +
�

|x |n−�

����� ����������� ���� �� ������� �������� ∈ Ω�

� �� ��������� �� ���������

� ����� � �������� �� ��� ����

� ��������

� ���� ���������� �������� ������ ������ u = � �� ���������

� |x |n−�u(x) =� �� ��������

� ����
�
φ = �� ������������ �� ��� ������ �����

� φ/�+ Dφ = �� ���� φ ∈ N(I/�+ D) =�

� ���������������������

→ ��������� ��� � ��� �� ��


